A& ol &b A & Al A
20158 = = 0l& LB A
& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
E5 Al 23,755,000 22,960,019 794,981
100 X1 Al=¢ 23,755,000 22,960,019 794,981
110 XAl 23,755,000 22,960,019 794,981
111 ESAl 23,305,000 22,510,019 794,981
111-03 =2l Al 1,311,000 510,000 801,000
[ 23 ] 1,311,000 510,000 801,000
<ML > 1,311,000 510,000 801,000
OXHatg 361,000
—330m =t At A 250 = 1,444,000m 361,000
Ooose 250,000
— el 5,000& = 25,400AlCH 127,000
— ol ¥ IOHQIANS & 50,000& = 2,460H4 123,000
osgas= 140,000,000,000& * 0.005 700,000
111-04 TH & A 5,900,000 5,800,000 100,000
[ el A ] 5,900,000 5,800,000 100,000
<ML > 5,900,000 5,800,000 100,000
OFal-—3-- 532,000,000,000& =* 2.5/1,000 1,330,000
OEX= 1,520,000,000,000& = 2.5/1,000 3,800,000
o8z 513,333,334,000& * 1.5/1,000 770,000
111-05 X+ = XHAl 6,844,000 6,700,019 143,981
[ LEH3IAH ] 6,844,000 6,700,019 143,981
< MR > 6,844,000 6,700,019 143,981
OsEXsit 3,750,782
— 800ccOl 5t 80& * 800cc » 1,190CH = 0.7 53,312
— 1000ccOl &t 80&  1,000cc = 1,340CH = 0.7 75,040
— 1600ccOl Gt 1408 * 1,500cc * 3,690CH * 0.7 542,430
— 2000ccOl Gt 200& = 2,000cc * 8,300CH * 0.7 2,324,000
— 2000cc== 2t 200& = 2,000cc * 2,700CH * 0.7 756,000
Osg & stsitsxt 292,716
—-s& 42,0003 * 998CH 41,916
— &= 28,500& = 8,800CH 250,800
OF&dA 2,800,502,000& 2,800,502
111-07 S A HIAl 4,100,000 4,100,000 0
[ 2etsl A ] 4,100,000 4,100,000 0




100 X2 A+=¢

X
I’Z 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2

<MW > 4,100,000 4,100,000 0
O=+=g &l 6413 » 1,716,069 1,100,000
O=4&tE i 6413 * 4,680,188 3,000,000

111-09 X &S Al 5,150,000 5,400,000 250,000

[ 2etsl A ] 5,150,000 5,400,000 A250,000

<ML > 5,150,000 5,400,000 A 250,000
OAase 5,150,000
—aSAHE 28,500,000,000& * 10/100 2,850,000
—gelAg 23,000,000,000& = 10/100 2,300,000

M3 At =42 450,000 450,000 0

113-01 AtE =+ 450,000 450,000 0

[ el A ] 450,000 450,000 0

<ML > 450,000 450,000 0
OXdEE =g 450,000, 000& 450,000




